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Q1: Two parallel lines p and q are intersected by a transversal t. If the interior angles on same
side of transversal are (2x—8) and (3x—7). Find the measure of these angles.

Q2: In the given fig. | is parallel to m and p Il g. Find the measure of each of the angles a, b
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Q3: In given figure, AB||CD, AF||[ED, £AFC=68° and 2FED=42°. Find £EFD.
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Q4: Find the value of x in the given figure.
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Q5: In the given figure, find the value of y.
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Q6: Find the value of x.
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Q7: If the angles (4x + 4)° and (6x — 4)° are the supplementary angles, find the value of x.

Q8: Find the value of y.
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Q9: In the given figure, prove that AB || CD.

Q10: In the following figures, find the lettered angles.
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